Vedantiy

LIVE ONLINE TUTORING

Study Material

Downloaded from Vedantu

I Live ONLINE
MASTER CLASSES

FREE Webinars by Expert Teachers

About Vedantu

Vedantu is India’s largest LIVE online teaching platform
with best teachers from across the country.

Vedantu offers Live Interactive Classes for JEE, NEET, KVPY,
NTSE, Olympiads, CBSE, ICSE, IGCSE, IB & State Boards for
Students Studying in 6-12th Grades and Droppers. Register for FREE

Awesome Master Teachers

Anand Prakash n Pulkit Jain Vamsi Krishna
B.Tech, IIT Roorkee ‘r B.Tech, IIT Roorkee B.Tech, IIT Bombay
Co-Founder, Vedantu E ! Co-Founder, Vedantu » Co-Founder, Vedantu

My mentor is approachable and guides me
in my future aspirations as well.

Student - Ayushi

10,04,600+ 9,49,900+

Hours of LIVE Learning Happy Students

FREE MASTER CLASS SERIES

For Grades 6-12th targeting JEE, CBSE, ICSE & much more
Free 60 Minutes Live Interactive classes everyday
Learn from the Master Teachers - India’s best

My son loves the sessions and | can
already see the change.

Parent - Sreelatha

95% 95% Students of Regular

Tuitions on Vedantu scored
Top Results  ahove 90% in exams!

Register for FREE



https://vdnt.in/2ZXyh
https://vdnt.in/2ZXyb

Download
Vedantu's App & Get

All Study Material LIVE

with Solution Doubt Solving
Daily FREE Tests and
LIVE Classes Reports

GET IT ON

P Google Play

v4l

Have a Doubt? Ask Now!

MY DOUBTS

DOWNLOAD THE APP


https://vedantu.app.link/upPa3AwalV
https://vedantu.app.link/upPa3AwalV

CBSE Class 10 Mathematics
Important Questions
Chapter 9

Some Applications of Trigonometry
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1. A man standing on the deck of a ship, which is 10 m above the water level, observes

the angle of elevation of the top of a hill as () and the angle of depression of the base
of the hill as 3()°. Calculate the distance of the hill from the ship and the height of the

hill.

Ans. Let AB be the ship and CD be the hill.

LetBD=xm

In right A4ED

— =tan 30°
i

10 1

x

= x= 1[:'-\.@???

In right ACEA,



\edantn,

Study Materials

NCERT Solutions for Class 6 to 12 (Math & Science)
Revision Notes for Class 6 to 12 (Math & Science)

RD Sharma Solutions for Class 6 to 12 Mathematics

RS Aggarwal Solutions for Class 6, 7 & 10 Mathematics
Important Questions for Class 6 to 12 (Math & Science)
CBSE Sample Papers for Class 9, 10 & 12 (Math &
Science)

Important Formula for Class 6 to 12 Math

CBSE Syllabus for Class 6 to 12

Lakhmir Singh Solutions for Class 9 & 10

Previous Year Question Paper

CBSE Class 12 Previous Year Question Paper

CBSE Class 10 Previous Year Question Paper

JEE Main & Advanced Question Paper

NEET Previous Year Question Paper

Vedantu Innovations Pvt. Ltd.
Score high with a personal teacher, Learn LIVE Online!
www.vedantu.com



https://www.vedantu.com/ncert-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/revision-notes/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/rd-sharma-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/rs-aggarwal-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/cbse/important-questions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/sample-papers/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/sample-papers/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/formula/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/syllabus/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/textbook-solutions/lakhmir-singh-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/previous-year-question-paper/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/previous-year-question-paper/cbse-previous-year-question-papers-class-12/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/previous-year-question-paper/cbse-previous-year-question-papers-class-10/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/iit-jee/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/neet/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP

\Té : ! I

IVE ONLINE TUTORING

—— =tan 60°

AE

_ h :mﬁ
1043 1

= h=30m

Height of the hill=h + 10
=30+10=40m
2. A boy is standing on the ground and flying a kite with 100 m of string at an elevation

of 3()° . Another boy is standing on the roof of a 20 m high building and is flying his
kite at

an elevation of 44“. Both the boys are on the opposite sides of both the kites. Find the

length of the string that the second boy must have so that the two kites meet.

Ans. AE =100 m (Given) and DC = 20 m (Given)
LetEF=hm

In right A ABE,

100
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P+ZD_1
100 2
= h=30m

Now in right AEFD

— =sin45°

30 _ 1
ED .[»

= ED =30-/2 m

3. The angle of elevation of the top Q of a vertical tower PQ from a point X on the
ground is /)% . At a point Y, 40 m vertically above X, the angle of elevation is 445~ find
the height of the tower PQ and the distance XQ.

A

1]

Ans. In right AQORT .

== —tan45°
.

www.vedantu.com
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OR 1
— =
x 1
= 0OR=x

In right AQPY

x+40 — tan 60°

'

_ x+40 :f

X

= aﬁx: x+40

40 N3+
i1 B3+l

= x=20(~3+1) =54 64

—

PO =x+40
= 5464440 =94.64m

In right AQPY

x+40

= sin 60

_ 54.64+40 _ 3
X0 2
— X0 =109.3 m

Find the height of the mountain.

4. At the foot of a mountain the elevation of its summit is 4 %~. After ascending 1000 m

towards the mountain up a slope of 3()“inclination, the elevation is found to be &()“.

www.vedantu.com
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=500

SO0 =
an =

S00g E B
Ans. In right AQEC

E =cos30°

1000

OF 1
= — =

1000 2
= 0F =500m

In right A4DO,

h—500

tan 60°

_ h=500 _ NE]
oD

www.vedantu.com




\Té -

IVE ONLINE TUTORING

_ \E.u‘:- _
15300+ /=300
= +f3h =1000 + /

1
1

. 100
==
J3-1
— h=136986m

5. If the angles of elevation of the top of a tower from two points at distances a and b
from the base and in the same straight line with it are complementary, then the height

of the tower is

@ .fap

(b) ab

© 2
L,

@ f2
b
Ans. a) ., falg]

6. If the height of tower is half the height of the flagstaff on it and the angle of elevation
of the top of the tower as seen from a point on the ground is 30 ©, then the angle of

elevation of the top of the flagstaff as seen from the same point is
(a) 30"
(b)45°~
(c)60*"
(d)9o*=

Ans. (b)45*
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7. As observed from the top of a 75 m tall lighthouse the angles of depression of two
ships are 30 “and 45“. If one ship is exactly behind the other on the same side of the

light house, then distance between the two ships is
@753 -1|
(b) 75.f3

(c) 75

@ —=
N

Ans. (@) 75(~3 1|

8. The angle of elevation of the top a building from the foot of the tower is 30 © and the
angle of elevation of the top of the tower from the foot of the building is 60 “. If the
tower is 50 m high, then the height of the building is

(a) 50

50
b —
3

© 503

0

@ —=
3

Ans. (b)

Ly

L
Ll | s

9. A 1.6 m tall girl stands at a distance of 3.2 m from a lamp post and casts a shadow of

4.8 m on the ground, then the height of the lamp post is
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8
(a) -
3

-

)
g

© 8.3

8
(@ —

13

Ans. (a) §
3

10. A tree breaks due to storm and broken part bends so that the top of the tree touches
the ground making an angle of 30 “ with ground. If the distance between the foot of the

tree to the point where the top touches the ground is 8 m, then the height of the tree is

8
(a) -
3

®) 2
g
© 8.3
(d) =
NE)
Ans. (c) gﬁ

11. The angle of elevation of the sun when the length of the shadow of a pole is Mﬁ
times, then height of the pole is
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8

Shadew
(a)30°
(b)45°
(c)60*"
(d)75°

Ans. (a) 30

12. From the figure, the angle of elevation & is

it 30,3

(a)30°
(b) 60°
(c)45°
(d)75°

Ans. (b) 60~

www.vedantu.com
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13. A person walking 20 m towards a chimney in a horizontal line through its bare

observer that its angle of elevation changes from 30 “ to 45 “, then height of chimney is

20
(a)
3+
20
(b)

-1
© 20(+3-1]

@ 20(4f3 +1]

20

b1

Ans. (b)

14. Find height of the tower if length of shadow = 10 m and sun’s altitude =45 ~.

(a) 10 m

(b) 12 m

(c)20m

(d) none of these

Ans. (a) 10 m

15. If the angles of elevation of a tower from two points at distances a and b where a > b,

from its foot and in the same straight line from it are 30 “ and 60, then height of the

tower is

@ Ja+b
® . fap
© fa—b

10



IVE ONLINE TUTORING

@ \/E
o)
Ans. ) .{qp

16. The angle of elevation of the top of a tower from a point on the ground which is 30 m

away from the foot of the tower is 30 “, then height of tower is
(a) 10 m

(1) 10./3m

10

(©) Em
@ 3§10 m

Ans. (a) 10 m

17. If height of the tower = shadow of the tower, then angle of elevation is
(@) 30~
(b)45°*
(c) 60~
(d) 90~

Ans. (b) 45 *

18. If length of shadow = 20 m and angle of elevation = 60 “ . Then height of tower is

(a)20m

®) 20+ 2m

11
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2
() = "

NE)
(D 204/3m

Ans. (d) 20+/3m

19. A little boy is flying a kite. The string of kite makes an angle of 30 © with the ground.
If length of the kite is h = 21 m, then length of string is

(a) 63 m
(b) 42 m
(©)35m
(d)21m

Ans. (b) 42 m

20. Line joining an eye and the object to be viewed is called
(a) Horizontal

(b) line of sight

(c) Vertical line

(d) None of these

Ans. (b) line of sight

12
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CBSE Class 10 Mathematics
Important Questions
Chapter 9

Some Applications of Trigonometry

2 Marks Questions

1. A circus artist is climbing a 20 m long rope, which is tightly stretched and tied from
the top of a vertical pole to the ground. Find the height of the pole, if the angle made by

the rope with the ground level is 3()° (see figure).

A

20 m

B 30°

c
Ans. In right triangle ABC,

5iﬂﬂ-[l==E
AC
R
2 20

— AB=10m

Hence, the height of the pole is 10 m.

2. A tree breaks due to storm and the broken part bends so that the top of the tree
touches the ground making an angle 3()° with it. The distance between the foot of the

tree to the point where the top touches the ground is 8 m. Find the height of the tree.

D (Top of the treg)
i
i
i
]
1
i
i
h‘.
B 307 o
{Foot of &m
the trea) ground

Ans. In right triangle ABC,

13
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CDEED==E
AC
_ A3 _ 8
2 AC
— AC= Em
NE
Again, tE|113-III==E
EBC
., 1 _AB
N
— AB = i m

B
. Height of the tree = AB + AC
3 16 24

NNV SR £

_ A B
—E;{E—Eﬁm

3. A contractor plans to install two slides for the children to play in a park. For the
children below the age of 5 years, she prefers to have a slide whose top is at a height of
1.5 m and is inclined at an angle of 3()° to the ground, whereas for elder children, she
wants to have a steep slide at a height of 3 m and inclined at an angle of £()° to the

ground. What should be the length of the slide in each case?
P

am

i,

Ans. In right triangle ABC,

sin 30° =E

14
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- 1_1°

2 AC

— AC=3m
In right triangle PQR,

sin60° = PQ

FR

- B3

2 PR

= PR= 2./ m

A

1.5m

- 30° Cg

Ans. In right triangle ABC,

30 = o0
C

1 _4B
G330

::ﬁAB:ﬂm

N

30 43
o4 =103 m
5

—.

Hence, the lengths of the slides are 3 m and gﬁ m respectively.

4. The angle of elevation of the top of a tower from a point on the ground, which is 30 m
away from the foot of the lower is 3()°. Find the height of the tower.

www.vedantu.com
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5. A kite is flying at a height of 60 m above the ground. The string attached to the Kkite is
temporarily tied to a point on the ground. The inclination of the string with the ground
is /4()° Find the length of the string, assuming that there is no slack in the string.

i?.q {kite)

f B0 m

&0 n
c e el B

Ans. In right triangle ABC,

sin 60° _25
AC
- V3 _ 60
2 AC

= AC= 40,3 m

Hence the length of the string is 4(.f3 m.

6. A TV tower stands vertically on a bank of a canal. From a point on the other bank
directly opposite the tower, the angle of elevation of the top of the tower is {()° From
another point 20 m away from this point on the line joining this point to the foot of the
tower, the angle of elevation of the top of the tower is 3()° (see figure). Find the height

of the tower and the width of the canal.

B

- m—

Ans. In right triangle ABC,

16
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tan 60° = AB
BC

AB

= =_
-...'f_ EC

In right triangle ABD,
tan 30" = 20
BD
A
J BC +CD
AB

d__]

— AB= ———m
From eq. (i) and (i),

Bcﬁ— J'

— 3BC=BC+20
— BC=10m
From eq. (i), AB = 1|:|.,ﬁ m

Hence height of the tower is 1|].,f3._ m and the width of the canal is 10 m.

7. From the top of a 7 m high building, the angle of elevation of the top of a cable tower
is A4()° and the angle of depression of its foot is 45° Determine the height of the tower.

17

www.vedantu.com



\edantiy,

LIVE ONLINE TUTORING

C (Top)

&0 M
A E
o) AR T g
Tm § Tm
45"
a—i D (Foot]

Ans. In right triangle ABD,

.. AB
tan43" =—
BD

= 1=

BD
— BD=7m
= AE=7m
In right triangle AEC,

tan 60" = <=
AE

= 5=

7
= CE=7.fim
- CD=CE+ED

=CE+AB
=73 +7
=7(B-1)m

www.vedantu.com
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Hence height of the tower is 7 |I«J€ ~1|m.

8. A round balloon of radius r subtends an angle ' at the eye of the observer while the
angle of the elevation of its centre is J,{-? Prove that the height of the centre of the

. . ¥
balloon is r sin Jﬁ cosec —
=

Ans. In right AOBD.

oD o

— = CO0SE8C—
¥ 2

X
:*D.D':rcnﬂm:?

In right AOCD,

ocC
—==5in
oD p
_ ocC b sin
¢ 1
¥ Cosec —
5

: (o
= OC =rsin [ cos ec—

9. An aeroplane flying horizontally 1 km above the ground is observed at an elevation
of 5()=. After 10 seconds, its elevation is observed to 3()“. Find the speed of the

aeroplane in km/hr.

19
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-
.-"---Pd---
/ ____.--""'--- 1km
/E-'C" 1 1km

'\-xﬁ___.-"
E o ! ]
£~30 )

x —cF—7 i

Ans. Inright A4CE

ﬂc:tanﬁﬂ“
x
1B
x 1
= xX= : m
3
In right ABDE.
1 = tan 30°
x+ ¥
1
:‘} —

www.vedantu.com

20




\edantiy,

LIVE ONLINE TUTORING

2
E
10

3600
= 240300 | I

10. From a window (h m high above the ground) of a house in a street, the angles of
elevation and depression of the top and foot of another house on the opposite side of
the street are = and ﬂ respectively, show that the height of the opposite house is

|1+ tan c.cot 5| m.

Ans.Let DE=hm

DC=xm
In right AEDC
h

— =tan &

-

h .
= =x....(1)

tan 5

In right A4BE.

www.vedantu.com
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=tan

T

= i =tan & [from (i)

h
tan 3
= Htan 5 =/htan o
= H = htanct.cot 5
AC=H+h

= htan ct.cot 5+ h

= hitan cc.cot S+1)

Hence Proved.

11. A ladder rests against a wall at an angle = to the horizontal. Its foot is pulled away
from the wall through a distance ‘a’ so that it slides a distance ‘b’ down the wall making
cos & —cos 5

sin f—sina

a
an angle fi’ > with the horizontal. Show that — =

Ans. In right A4CD.

b+ h , X
=sin ¢ and T:cnﬁﬂ.’

Similarly, in right ABCE

22
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at+x
[

coso —cos 5

sin G—sin o

Einﬁ=;=cn5ﬁ=

RHS=

a+x X—a—x

[ [ _ -

y
[ _ _4
h b+h h-b-h p
] s

Hence Proved.

12. A vertical tower stands on a horizontal plane and surmounted by vertical flagstaff
of height h. At a point on the plane, the angles of elevation of the bottom and the top of
the flagstaff are & and fi’ respectively, Prove that the height of the tower is

hitan o
tan 5 —tan o

=

Flag Staff
h

i

H Tower

i)

L
o L -

0

Ans. Let AB = Height of tower = H
Let BC = Height of flagstaff = h
In right-angled triangle OAB and OAC,

¥
— =Ccot e
H

= x=Hcote

X . .
And =cot S=x=(H +h|cot 5
H+h ' '

23
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Equating value of X, we get

Heota=(H+h)cot 8

= H(cotax—cot F)=hcot 5
hicot 5

cot & —cot 5

= H =

13. The angle of elevation of the top of a tower at a point on the level ground is 30 ©.
After walking a distance of 100 m towards the foot of the tower along the horizontal
line through the foot of the tower on the same level ground the angle of elevation to the
top of the tower is 60 “, find the height of the tower.

A | Top of Tower)
__.-'.::- [ |

x

24
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14. As observed from the top of light house 100 m high above sea level the angle of
depression of a ship sailing directly towards it changes from 30 to 60 . Determine the

distance travelled by the ship during the period of observation. (Use ,J': =1.732)

Ans. Let PQ be the light house such that PQ = 100 m. Let A and B be the positions of ship

when the angle of depression changes from 30 © to 60 “ respectively.
Let A =xmandBP=ym

From right-angled A4 PO,

100 _ ans0e= L= x+1=100-3___(@

x+y 3

From right-angled triangle BPQ,

@=tan303=u@
»

w

100 100 . »
W= = i S 11
Y=E NENN )

From (i) and (ii),

1’+@J—IDD~J’_(:H

25
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15. The angles of elevation of the top of a tower from two points P and Q at distances of
a and b respectively from the base and in the same straight line with are
complementary. Prove that the height of the tower is ﬂ'._-;r.b _ Where a > bh.

Ans. Let AB be tower of height h. Let P and Q be the given points in the same straight line

with the foot B of the tower.
LetBP=a,BQ=b
ZAPB=0./40B=90°-8

From right angled A4PE,

I
—=tan &
a

=h=atan8...._.(i)

From right-angled A4 OB,

- =tan|90°-&|
Ib 2
=2 _cotd
b
: b .
=h=bcotf=—_________. (1)
tan &

Multiplying (i) and (i), we get

WWW.VE '(L! ntu.com
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=abh

=l =+Jab

16. An aeroplane flying horizontally at a height of 1.5 km above the ground is observed
at a certain point on the earth to subtend an angle of 60 “. After 15 seconds, its angle of

elevation is observed to be 30 . Calculate the speed of aeroplane in km/hr.

r"sd

.-.' ol
- -~
S50

i a
A, _.-l" =3

y A 30

O A Y [

L

Ans. Let O be the observation point.
Let A be the position of aeroplane such that ~ 4 =60"and 4 =1 5kgn=8D

Let B be the position of aeroplane after 15 seconds. . BQD =30 OC = x lon, CD = v Jon

X 1
In right AQCAd. — =cot 0" = —
g 1= \E

-

In right A4DE.

27
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eq (if) —eq (1)

Y=
.. Distance covered in 15 seconds y= \E lon

Distance covered in 1 second = \E
15

fon

Distance covered in 3600 seconds = £ #3600 = 24Dﬁ lon

15
17. A man is standing on the deck of a ship which is 25 m above water level. He observes
the angle of elevation of the top of a lighthouse as 60 ©“ and the angle of depression of
the base of the lighthouse as 45~ . Calculate the height of the lighthouse.

H=hgight of lighthouse

=

—
-

Ans. H = Height of lighthouse =h + 25 ....... (1)

28
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In right :u.,w:::% = cot45° =1
-

-

x 1
In right A4ADE, = = cot 60° = —

7

18. An aeroplane when flying at a height of 3125 m form the ground passes vertically

below another aeroplane at an instant when the angle of elevation of the two planes

from the same point on the ground are 30 © and 60 “ respectively. Find the distance

between the two aeroplanes at that instant.

. |

(]

ey :-
), A .
Ans. Let .4 and 4, be the positions of the two aeroplanes

LEt -l'-:ﬁ.l'-i: = .-Il.l-'?l

And OM =y
L =cnt30°=~.ﬁ
3125

WWW.VE '(L! ntu.com
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=y =(3125)43..()

Al S cot 60°
sO ———— = = —
3125+« ﬁ

31257443

INE LN
3125+x Lf3
= 3125+ x=(3125)(3)

= x=3125(3-1)=3125%2 =6250 m

19. A boy standing on a horizontal plane finds a bird flying at a distance of 100 m from
him at an elevation of 30 “ . A girl standing on the roof of 20 m high building finds the
angle of elevation of the same bird to be 45 “. Both the boy and the girl are on opposite

side of the bird. Find the distance of the bird from the girl.

& 4 {hird)

Ans. Positions of bird at A, boy at P and girl at B are as shown in figure.

In AdBP,

AB =51113EI'3:l

100 2

= . =@:5Dm
2

Also BC=DQ = 20m

S AC=AB-EBC=50-20=30m

WWW.VE '(:i antu.com
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n A4C0. 2% —inase
AQ
=20 L 030

40 2

Hence, the bird is 30 ,J'E m away from the girl.

20. At a point on level ground, the angle of a elevation of a vertical tower is found to be

=
such that its tangent is — on walking 19.2 m towards the tower, the tangent of the
12

angle of elevation is E . Find the height of tower.

I

~- R ~
e 13 L X

Ans. Suppose height of tower is h meter

In A4BD.

H
tan 5 =—

x

In A4BC.

31
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192+x 12
= x =240

21. From the top of a building 60 m high, the angles of depression of the top and bottom
of a vertical lamp post are observed to be 30 © and 60~ respectively. Find:
(i) the horizontal distance between the building and the lamp post

(ii) the height of the lamp post. [Take ﬁ —=1.7321

3
-
- - L
3 -l
- F
ant N J
B L F
-~ 5
- /
st & -
- N, ; .
e . o o
= - o
A A £
S | ¥,
Ey T
s
s

A~ B0 ‘
A |

- d =
i [y

Ans. Suppose height of lamppost is h meter.
In ADEB.

x

=|:|:|t3[]°=-.."§

T

0—h
= x=(60—h)+f3..(0)

In right ACAB. 510 ot 60°= L

NE

32
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=80, 203

NRNE

= x=20x1.732 =34 64 m__(ii)
By eq. (i) and (ii)

(60-h) .f3=20.f3

= 60-h=20
= h=40m

22. A man standing on the deck of a ship which is 10 m above the water level observes
the angle of elevation of the top of a hill as 60~ and the angle of depression of the base
of the hill as 30 © . Calculate the distance of the hill from the ship and the height of the
hill.

Ans. Let H = Height of hill

CE=CD+DE
—104/.__(D)

In right A4DE.

33
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x_L
10 3

h
X =—

3

In right &m:::% = cot30°=-3

U

= x =103

Equating the values of x, we get

i:l[]\.@:‘;« hi=30cm

N
S FromH=10+h=10+30=40m

And x = distance of hill from ship = 10 ,.JE m

23. The angle of elevation of a jet-plane from a point P on the ground is 60 ° . After a
flight of 15 seconds the angle of elevation (change to 30 ©). If the jet plane is flying at a
constant height of | gmﬁ , find the speed of the jet plane in km/hour.

E C

1500+3m

o

Fodoy-
r -~
Al
.=‘;x; 30
£
ra } ]

-
bl |— v _| O ‘

Ans. Let A be the point on the ground E is the position of aeroplane such that .~ E47) = (0"
and ED =1500+3 =CB

C is the position of plane after 15 seconds

34
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~.Z/CAB=30°, AB=x.AD=1y

.
In right AAEC, ———= =cot 30°
150043
150043
== x=4500m
In AMDE. =cot 60"

’
1500+3

% 1

—— =

1500-3 3
= v =1500m

Distance 51 = x— y=4500-1500=3000m

s=2
T
Speed = ED[?D =200m ! sec
g
_ 2003600 _ >y tem 7o
1000

24. A pole 5 m high is fixed on the top of a tower. The angle of elevation of the top of
pole observed from a point A on the ground is 60“ and the angle of depression of the
point A from the top of the tower is 45°. Find the height of the tower. (Take

J3=1.732)

35
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Harizonka /
r

Tower

Ans.In A4DE,

AD

: =cot 45°
II-‘E
A:D—l
‘-‘E
= AD="h
In A4DC
48 = n:u:ntl'f:'[T:':i
h+5 NE]
=" _ 1 [-aD=p]
= — " = #
h+5 W3
= h+5 =3k

25. From a window 15 m high above the ground in a street. The angles of elevation and
depression of the top and foot of another house on the opposite side of the street are 30
© and 45 © respectively. Show that the height of the apposite house is 23.66 m. [Take

36
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J3=17321
f"fﬂ
,.f’ff |
1
f,x”
P
Pl |
AA30
D &1 — E
. .
/45
15 \\“‘\ 15m
B
c B

Ans. Suppose AE = hm and BC
Then, AB = [15+F:r_]m

In A4ED.

*

by.....(0)

=Xm

www.vedantu.com
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=
::uh:l‘”ﬁﬂﬁm

3

Height of another house =14 & gﬁ =15+5=1732

=15+8.660
=23.66m

26. The angle of elevation of the top of a tower as observed from a point on the ground

is '¢¥'and on moving ‘a’ meter towards the tower. The angle of elevation is ' J.{'? ' prove

atan ctan 5

that height of tower is .
tan /7 —tan

A"

._.-"': ,'III h
I i

Vi [
frx [ .-'II." . ﬁ
E' H "\-i_ X EI

Ans. Let AB b tower and height of tower = h m

In A4BC.

5
tan 5 =—

x

38
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T

H
tan & =
x+a
= h=(x+a|tanc
= h=|——+a|tana by ... (i)
tanf
., htan &
—h= + atan &
tan 5

= htan 5= htan o +atan tan 5
= i tan S—tan & ) = atan cctan 5
atan citan 5

tan S—tan 5

= =

27. ATV tower stands vertically on a bank of a canal. From a point on the other bank of
a canal. From a point on the other bank directly opposite the tower, the angle of
elevation of the top of the tower is 60 © from a point 20 m away from this point on the
same back the angle of elevation of the top of the tower is 30 “ . Find the height of the
tower and the width of the canal.

- - - L =]

Ans. Let h be the height of tower and x be the width of the river

In AABC.Z = tan 60°
-

= h = ﬁl’.--(fj

39
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Equating (i) and (i),

ﬁx— x+ 20

5

= 3x=x+ 20
== 2x=20
== x=10m

Put x=101in @), j; = 3+

= 1 =10./3m

www.vedantu.com
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CBSE Class 10 Mathematics
Important Questions
Chapter 9

Some Applications of Trigonometry

3 Marks Questions

1. A 1.5 m tall boy is standing at some distance from a 30 m tall building. The angle of
elevation from his eyes to the top of the building increases from 3()° to §()° as he walks
towards the building. Find the distance he walked towards the building.

-

(Eyesof
pet)p AT T

15m ,§

R pY
Ans. AB=30mand PR=1.5m

AC=AB-BC

= AB-PR

=30-1.5

=28.5m

In right triangle ACQ,

tan 60" = 2=

41
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RS
., \E=_E_J
QC
285
— QC= m
NE]
In right triangle ACP,
tan30° = o
PC
1 285
j —
V3 PQ+QC
L_ 285
= B 28 5
NE)

57 o3
”r=19~f37m

— PQ= —ux
NG

Hence, the walked towards the building is 19ﬁ m.

2. From a point on the ground, the angles of elevation of the bottom and the top of a
and A’

transmission tower fixed at the top of a 20 m high building are 1%°

respectively. Find the height of the tower.

42
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C (Top of kowe)
RE
A [Botiom of fowar]
:
|
® 8
{A point on
P ground)

Ans. Let the height of the tower be # m. Then,

in right triangle CBP,
. BC
tan 60" = —
BP

= J3-2B7ac
BP

— f_0=r @
BP

In right triangle ABP,
.. AB
tan 43" = —
BP

= 1=20
EP

— BP=20m
Putting this value in eq. (i), we get,

S -

20+h
20

www.vedantu.com
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= 2043 =20}
= h=203-20

= /1=20[+3-1|m

. The height of the tower is 20 |: \E - 11_| m.

3. A statue, 1.6 m tall, stands on the top of a postal. From a point on the ground, the
angle of elevation of the top of the statue is /()° and from the same point the angle of

elevation of the top of the pedestal is 415° Find the height of the pedestal.

A (Top ol statue)
16m
B (Top of pedestal)
§
C

{A point on

the ground)

Ans. Let the height of the pedestal be / m.
. BC=hm
In right triangle ACP,

tan 60" = 2
C

AB +BC
PC

= 1=

44
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1.6=h
— = @)
\Ir PC

In right triangle BCP,

.. BC
tan 43" = —
PC

= PC=#h

h
..ﬁ = l'ﬁ} [From eq. (1)]

= Jih=16+h

= h[3-1]=16

1.6( 3 +1]
fi = - —
[SB-1](B 1]

_ h=1_ﬁ«f§—1
3-1

_ h=1-ﬁ|ﬁ—1|
2

= h=08(B=1|m

4. As observed from the top of a 75 m high lighthouse from the sea-level, the angles of
depression of two ships are 3()° and 4%° If one ship is exactly behind the other on the

same side of the lighthouse, find the distance between two ships.

45
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(Top) A 30° X
45°

g

% 75m

e

‘55
B 1 e e P (Ship)
(Ship)

Ans. In right triangle ABQ,

an 35 2B
BQ
= 1=
BQ
— BQ=75m......... (1)
In right triangle ABP,
tan 30" = —
BP
1 AB
= F=-——
3 BQ+QP
1 AB :
— —= = —  [From eq. ()]
3 O75+QP

= 75+ QP = 75,3
= QP=T75(y3-1| m

Hence the distance between the two ships is 75| \."'3_ ~1| m.

5. A girl who is 1.2 m tall, spots a balloon moving with the wind in a horizontal line at a
height of 88.2 m from the ground. The angle of elevation of the balloon from the eye of
the girl at any instant is 5()°. After sometime, the angle of elevation reduces to 3)°.

46
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G

Find the distance travelled by the balloon during the interval.

H €]

Ans. In right AHEF,

&ztan 60"
¥
— SIII =E
X 1
g7
= X=—

vr S'ar 29.3m
., .
J N
In right AGDF

= tan 30°

x+ ¥

8 1
293+ A3

—= 1 =873 -29.f3 = 383m

6. From the top of a tower 96 m high, the angles of depression of two cars on a road at

the same level as the base of the tower and on same side of it are 6 and ¢, where

3 1
tan & =—and tan ¢ =—. Find the distance between the two cars.

www.vedantu.com
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/
¥

o .-"f h] o
] ! i,

|— ¥ { i l= W

Ans. In right A4EC,

96 3
—

x 4
96 4
3

= x=32x4=1128m

= X=

[tan6 =2
4

In right A4ED,

06
x+ ¥
96 1 1
= =— |tang =—
x+y 3 [ g 3

96 |

— =
128+y 3

=128+ 1 =228

— 1 =288—128 =160

=tan|;ﬂr

48
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CBSE Class 10 Mathematics
Important Questions
Chapter 9

Some Applications of Trigonometry

4 Marks Questions

1. The angle of elevation of the top of a building from the foot of the tower is 3()° and
the angle of elevation of the top of the tower from the foot of the building is §()°_If the
tower is 50 m high, find the height of the building.

(Top) P A (Top)
Hm hm
Pola Pola

ﬂ mn 30"
nm R {80 —h) m
*»— i n —

Ans . Let the height of the building be / m.

tan 60° = =2

BQ
= J3-22

B

50
— BQ = ﬁ m....... (63)
In right triangle ABQ,
tan 30 =20

B

1 h

5 BQ
= BQ= jif3 M., (i)

From eq. (i) and (i),
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2. Two poles of equal heights are standing opposite each other on either side of the
road, which is 80 m wide. From a point between them on the road, the angles of
elevation of the top of the poles are /)° and 3()° respectively. Find the height of the

poles and the distances of the point from the poles.
> A

ao° &0"
c B
e B} [} ——————

Ans. In right triangle ABC,

D

tan 60 = =0
S P
BC

In right triangle ABD,
tan 30° = 20
BD
., 1 _ AB
ﬁ BC +CD
., 1 __AaB
3 BC+20

50
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2
— AB= —
3

From eq. (1) and (i),

Bcﬁ- J'

— 3BC=BC+ 20
— BC=10m
From eq. (i), AB = 1|:|,f§ m

Hence height of the tower is 1|:|.,J|€ m and the width of the canal is 10 m.

3. A 1.2 m tall girl spots a balloon moving with the wind in a horizontal line at a height
of 88.2 m from the ground. The angle of elevation of the balloon from the eyes of the
girl at any distant is §()° After some time, the angle of elevation reduces to 3(j° (see

figure). Find the distance travelled by the balloon during the interval.

T CTeT]

tﬁﬂiﬂ
Y o4 ——

Ans. In right triangle ABC,

882m

-
S

A,
o

A ; P
88.2 m
Ba2m |
[iTe
; [ [
c - .
AB
tan 60° =—
EC

51
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88.2
= 43 =
J_ BC
882
— BC= m
V3
In right triangle PQC,
tan 30° = -2
CQ
1 P
= == Q
i CB+EBQ
1 882
= 3 882

_ S 8823
J3 882+4BQf3

— 88.2+BQ.3=26456

= BQ.3 =264.6-88.2 =176.4

20443

5

Hence the distance travelled by the balloon during the interval is

4. A straight highway leads to the foot of a tower. A man standing at the top of the tower

observes a car at an angle of depression of 3()° , which is approaching the foot of the

52
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tower with a uniform speed. Six seconds later, the angle of depression of the car is

found to be #/)° Find the time taken by the car to reach the foot of the tower from this

point.
(Top) A 0 X
&0
g8 a0°
Q P
(Fool) (Can) (Car}

Ans. In right triangle ABP,

tan 30° = 2

BP

1 AB
= — =

W3 BP

— BP:AB.ﬁ .......... (i)

In right triangle ABQ,
tan 60° = AB
BQ
BQ
AB
— BQ= —4 .......... (i)
V3
"* PQ=BP-BQ

SAB-AB IAB

. PQ=AB./3 — = = 2BQ [From eq. (ii)]
SETE P

= BQ-= PQ

I-.3'|"—"

53
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"." Time taken by the car to travel a distance PQ = 6 seconds.

1
. Time taken by the car to travel a distance BQ, i.e. — PQ = — x 6 = 3 seconds.
¥

b | =

Hence, the further time taken by the car to reach the foot of the tower is 3 seconds.

5. The angles of elevation of the top of a tower from two points at a distance of 4 m and
9 m from the base of the tower and in the same straight line with it are complementary.
Prove that the height of the tower is 6 m.

A (Top)

R 8m -
Ans. Let .~ APB= &

Then, ./ AQB = (90" —§|

[~ APB and .~ AQB are complementary]

In right triangle ABP,

PB

tan & =

In right triangle ABQ,

AB

tan (90"~ 8 =

54
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— AB=6m

Proved.

Hence, the height of the tower is 6 m.
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